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68 | 4 | R5.3 | O &)l 151187 e H/TT 473-1 233




68 | 5| R5.3 &)1 1)1 By HOT 4 /A 5600
68 | 6 | R5.3 | O 21| 1)1 By HOT 7 /A 1155
68 | 7 | R5.3 &)1 1)1 By O E 3 /A 5083
69 | 1 | R5.3 O =)l 1)1 By KFERZ 1342-19 /A 8438
69 | 2 | R5.3 O =)l 1)1 By FE 1152 /A 376
69 | 3 | R5.3 O &)1 1) |17 FE 1592-2 /A 13
69 | 4 | R5.3 O = 1) |18y L3 5 m 4928
69 | 5| R5.3 O = 1) |18y h Lei 25-1 b 388
69 | 6 | R5.3 O &)1 1) |18y h Lei 25-2 b 124
70 | 1| R53 O &)1 1) 187 J\IE L 4127-91 M 2353
7111 R5.4 O &)1 &)1 E7 A 23 b 456
72 | 1 | R5.12 O =l 121187 e 3 H 5070
73| 1| R6.1 O = 1) |18y =08 391-1 55! 2691
73| 2 | R6.1 O = 1) 187 =08 391-2 55! 2950
74 | 1| R65 =)l 1) |18y A FRLA 1480-1 b 3239
74 | 2| R65 @) =)l 151187 A FRILP 1481 b 2842
75 | 1| R6.6 &)1 151187 =/ B 224-1 m 625
76| 1| R68 | O =)l 151187 K= 14 m 1841
76| 2| R68 | O &1 151187 K= 15 H 2957
771 1] R69 | O =1l 151187 B/ T 180-1 m 221
771 2] R69 | O =)l 151187 B/ T 180-2 m 6842
771 3] R69 | O =)l 151187 B/ T 181 m 3274
78 | 1| R610| O =)l 151187 R H 42 m 897
78 | 2 | R610 | O =)l 151187 hH 43 m 434
78 | 3| R610 | O E)1] 151187 i 15-2 m 1314
79 | 1| R610| O = 151187 A 34 m 2991
79 | 2 | R610 | O &)1 151187 AV 35 m 2991
79 | 3| R610| O &)1 151187 A 36 m 2960
79 | 4 | R6.10 | O &)1 151187 AV 37 m 2983
79 | 5| R6.10 | O &)1 151187 A 38 m 1982
79 | 6 | R6.10 | O = 15) 1187 A 44 m 443
79 | 7| R610| O &)1 151187 A 45 m 458
79 | 8 | R6.10 | O &)1 15) 1187 A 46 m 461
791 9 | R610 | O = 151187 A 49 m 2873
79 [ 10| R6.10 | O &)l 151187 A 50 M 2854
79 [ 11| R6.10 | O &)1 151187 A 51 M 2849
79 [ 12| R6.10 | O &)1 151187 A 52 M 2859
79 [ 13| R6.10 | O &)l 151187 AN 53 M 2848
79 | 14| R6.10 | O &)1 151187 =+ 31 M 2997
79 | 15| R6.10 | O &)1 151187 =+ 32 M 2993
79 | 16| R6.10 | O &)l 151187 N 4 M 1648
80| 1| R610| O &)l 151187 T 120-2 P 6418
81| 1| R610| O &)1 151187 Wmep= 15 M 2686
81| 2| R610| O &)l 151187 Wmep= 16 M 2747
81 | 3| R610| O &)l 151187 Wmep= 17 M 2644
81 | 4| R610| O &)l 151187 Wah= 18 M 2746
81 | 5| R610| O &)l 151187 R 6 /A 1471
81| 6| R610| O &)l 151187 R 26 /A 12416




81 R6.10 | O 1711 181187 i &l 60 I 632
81 | 8 | R6.10| O 1711 181187 i &l 63-1 I 6161
81 R6.10 | O 1711 181187 i &l 63-2 I 7500
81 10| R6.10 | O &)1 181187 A =/ k 17 M 3490
82 | 1|R611| O 1711 181187 A B 14 I 1630
83 | 1 | R6.11 @) 1711 181187 AE HES 18-1 M 57
83 | 2 | R6.11 @) 1=/ 181187 AE BEE 33-1 M 42
83 | 3 | R6.11 @) &)1 181187 AE HEE 34-1 M 205
83 | 4 | R6.11 @) &)1 181187 i it 339 M 793
83 | 5 | R6.11 @) 1=/ 181187 i it 414 M 1822
83 | 6 | R6.11 @) 1=/ 181187 i it 416 M 2476
83 | 7 | R6.11 @) 1=/ 181187 iE it 417 M 2259
83 | 8 | R6.11 @) &)1 181187 i K= 3 H 776
83 | 9 | R6.11 @) 1=/ 181187 i K= 5 H 1986
83 | 10| R6.11 @) 1=/ 181187 i K= 6 H 2962
83 | 11 | R6.11 @) =yl 121187 AE = 7 A 1438
83 | 12 | R6.11 O &)1 51| BT AE = 8 A 753
83 | 13| R6.11 @) &)1 51| BT AE = 55-1 b 1652
83 | 14 | R6.11 @) =yl 121187 AE = 55-2 b 300
83 | 15| R6.11 @) =yl 121187 AE = 65 b 445
83 | 16 | R6.11 O =) 121187 AE 3] 31 b 5017
8 | 1 |R611| O &)1 51| BT AHEA (DS 34 b 312
8 | 2 | R611 | O =) 121187 KAHEA (DS 56 b 503
8 | 1 |R611| O =yl 121187 ATER 30-1 A 1506
8 | 2 | R6.11 | O =) 121187 ATER 30-2 A 1476
8 | 3 | R6.11 | O &)1 51| BT becheal 8 A 807
8 | 4 | R6.11 | O &)1 51| BT pechal 11 A 1121
8 | 1 | R6.11 | O &)1 51| BT = w/ T 154 H 983
87 | 1| R5.3 O 1Li#B AIE:$:) =F& FrER 5846-31 a2 2,351
87 | 2| R5.3 O NE i) =25 F R 5846-127 | H 2,600
87 | 3| R5.3 O 1Li#B AIE:$:) =F& FrER 5846-285 | M 3,343
87 | 4| R5.3 O NE i) =25 F R 5846-286 | M 2,503
8 | 1| R53 | O 1Li#B i) RIS 78 M 475
8 | 2| Rs3 | O 1Li#B i) RIS 80 M 431
88 | 3| R53 | O tLi#B i) RIS 87 a2 659
8 | 4| R53 | O INE ki) +0E1T5 90 H 600
88 | 5| R5.3 | O tLi#B i) RIS 1468-1 a2 730
89 | 1 | R6.10 O tLi#B AIE:L:) =Nl AHFE F78-1 H 431
89 | 2 | R6.10 O tLi#B AIE:L:) =Nl R/TF BH82 a2 85
89 | 3 | R6.10 O tLi#B AIE:L:) =Nl R/TF B83-1 a2 5
89 | 4 | R6.10 O tLi#B AIE:L:) =Nl R/TF B83-2 i 72
89 | 5 | R6.10 O tLi#B AIE:L:) =Nl R/TF B93-1 i 4
89 | 6 | R6.10 O tLi#B AIE:L:) =Nl R/TF B93-6 i 44
89 | 7 | R6.10 O tLi#B AIE:L:) =Nl /R BH99 H 39
89 | 8 | R6.10 O LR tLI#BET GiEN MR BF193-1 H 499
89 | 9 | R6.10 O tLi&B L) =Nl MR F201-1 H 1,191
89 | 10 | R6.10 O LR tLI#BET GiEN MR F201-1 H 1,191
89 | 11| R6.10 O 1Li#R HLIEBET GiEN IR BH201-0 H 148




89 | 12 | R6.10 O LR tLi#BET MR 206 95
89 | 13| R6.10 O HLER TE::) MR F208-1 499
89 | 14 | R6.10 O LR tLI#BET MR BH208-2 9
89 | 15| R6.10 O HLER TE::) JIR F213-2 17
89 | 16 | R6.10 O LR tLI#BET MR B214-1 171
89 | 17 | R6.10 O HLER HLIEBET MR B217-2 41
89 | 18 | R6.10 O LR tLI#BET MR B230-1 135
89 | 19| R6.10 @) 1Li#R 1LIEBET MR F230-2 59
89 | 20 | R6.10 O LR tLI#BET MR B231-1 301
89 | 21| R6.10 O 1L ki) TrABRF F258-1 264
89 | 22| R6.10 O LR tLI#BET =% 354 585
89 | 23| R6.10 O 1L L i$:) =% B355 198
89 | 24 | R6.10 O LR tLI#BET =% FH359 228
89 | 25 | R6.10 O 1Li#R LR BT = B 360 251
89 | 26 | R6.10 O LT (LR T =87 F378 575
89 | 27 | R6.10 O 1Li#R 1LIEBET =i F384 254
89 | 28 | R6.10 @) 1Li&B LR T FEMRT B513 687
89 | 29 | R6.10 O NE: ki) FERT B519 300
89 | 30| R6.10 @) 1Li&B (LR T FEMRT F519-0 23
89 | 31| R6.10 O 1Li#R 1LiEBET RIPER 591 638
89 | 32 | R6.10 O 1Li&B (LR T HRIEH F592 267
89 | 33 | R6.10 O 1Li#R 1LIEBET RIPER F595-2 99
89 | 34 | R6.10 @) 1Li&B (LR T HRIEH B596 357
89 | 35 | R6.10 O 1Li#R 1LiEBET RIPER 597 287
89 | 36 | R6.10 @) 1Li&B (LR T HRIEH B598 264
89 | 37 | R6.10 O 1Li#R 1LiEBET RUEE 599 46
89 | 38| R6.10 O 1Li#B AIE:$:) HRIEHR B601 234
89 | 39 | R6.10 O LR tLI#BET INEE L 1078 373
89 | 40 | R6.10 O 1Li#B i) A 12345 419
89 | 41 | R6.10 O LB 1L &R BT R/ 7 2 158
89 | 42 | R6.10 O 1Li#B AIE:$:) HRIPEHR 13 832
89 | 43| R6.10 O RES 1L &R BT RIPER 21 979




